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This	
  gentleman	
  is	
  a	
  double	
  amputee	
  and	
  is	
  a	
  bagger.	
  He	
  has	
  a	
  below	
  knee	
  
amputation	
  on	
  the	
  left	
  side,	
  and	
  has	
  a	
  syme	
  amputation	
  on	
  the	
  right	
  side.	
  	
  He	
  has	
  
been	
  walking	
  on	
  car	
  tires	
  for	
  20	
  years.	
  
	
  

	
  
	
  
Assessment	
  reveals	
  knee	
  flexion	
  contractures	
  in	
  flexion	
  on	
  both	
  sides	
  (130/20/0	
  
L	
  and	
  130/30/0	
  R	
  )	
  and	
  muscles	
  weakness.	
  	
  What	
  is	
  your	
  treatment	
  plan	
  and	
  
fitting	
  decision?	
  Justify	
  your	
  answer	
  
	
  

	
  


